Aé‘;lqn s
New

‘) et

Cenk =28 Bt AR5, 1FH 2 zvfoazoﬂ

st Qw!agﬂfadvm

1.l Zp X34 = L
P~ 5a “:—'“i"'l' ™ p = 34 lin
2(%@ IS pe 3(9)-

(9@ —-::‘ﬂﬂrJf 5 = 2

\

D;llﬂ?*
Y-34=-2  ((p=D
URTECR 134 R -

- Olaf QL B N
i 1 (=2:4)]
Fa =)

Solve: by elim nation.

-_'“‘ﬂ,(t%xwu 05 e

';'ZCP\X - \“53 =0

(A x. fw =12)3 =

| 2% -H%& = 20
6(-%-%%0 0 I - R
“1% t2y =0 X =
o M5
A R (- TON
%%%u%%d | L
5y )4 o yruy = |4
/29( U\ 4\4 = €x «’M“l(a
dx =30
PP
- - (x=5 S———
N Eme 2.5)|
2 % o —



Solve by swostiution

4‘X.-%Ul = 1§ . L
Jd
DX MY = F —» Y= -3x +F

1\-./

4x - (-3x +F) =I¥ ¥y=-330tF
_Ax ¥9x -2} = \¥ y=z-9g++
+_?—| +2) /l];j
\Zx =29 S
' 32\

Dy 194 22 P Z(g3H0)+AS =34
C=%% 40 248 —20 +9S. —:_83(‘3
r=8(2) 710 - %Zpg =l
=W o 33

(= (8 2)
((a.z))
éO\utqulm
(X ==\L)-2 ¥ “2x tly = 24 -
2>< H\g\J =% 2x Hlu = =+
L’?’VL 1+
X-3(1)=-12 o

B P

(x=-9  Jan|




et

)

254 [4p g —F)2 =+ Fo+10q v14-
[ 2p 2,7;\ “64)6'» op —10g =170

23D = 13’4
4(‘3)+Em =F =
22 Jcsq + / @
—22 ....,3;_
Gy =25 [ (5@?; %)‘
e s, - B
(4=5> -
25 (2% x5y =F)b = Ix yzy =42
LBX ~Y =2y > gy 13g =
| by =4%
Sx-¢= -2 b b
ZX =l —
X=%-%
(Xf@

- '—\ - - = -2
| %{ %b\ 3 _:f‘&/,_ 5 xﬂk = 2;-2 =
Ay -2y =5 _ @ _Z )




2|70 =302 2  ~ho+3 =-24 |
loot "%b ’q o 2b = 9
0 =-33 never
r’/S’oM;hj | hwpprs
Ale y\,: X ¥3%F -
| 2w-29 =20 Zx-3(ex43F) =-20
| | Zx-\5X -;“l =-20
=G (NT3T — 3% =ar—
g :“55+3:}_ 1% -‘lB f
(@ I @::9 .
7 BV e ek 3x-2F =B X—F
U By -F A, Y T
R by-bx =
=227 L% =20
U=24-27% KN
Y =D X=20. %




ﬁ}o @Mu’\-

DEN
Bl (¥ 2y =-3)0 » Gy =40
|Gix -2y =12)20 = \ox %y =260
/6y+t’2t4 — 0339 Bx —2ox = 180
\9x -SZU\ =0 \Sy.- ‘Ku = 26D
-y =440
3 X +3,Z(V5\ =3 -44 49
hX == ‘ AE=D
__tlb_Te e —
/N /A
1 X= 3‘9&*
\.\X“}VZ
5050 - 0.2b =222 =@ 304 ~p.4b= Lo
Ma,lrﬂ%«—{m | oqmow\o: 0%
- %Lm =110
o4 9\+04\o—--'1).q - 2.4
-1 104b =-pd /a-wé”)
) Y2
Qe 4y = L__(_o_ °( %\Bﬂl \?‘_6: '
L P—— o 30
b= 4) N

s




R

— Pack ot~

L (120 +Ak) — 5 (2%a - 24b)

= S5 +2b — Yda +\2o

= [0C+ 15 bl
| A—— T

Fx —(2x +3) =x-2

Oy -3 = x-2
-
x = |
= —
X = |
2ol b2x +31 =9
/‘\h—_
L1 2%x+3=9  2x+¥=-9 DR
S e S PE
- Ty — — l ’
X = | X= -8
L}“ ! "%8} l :[
,-—38 = l“'gy = —|
= = -1 =1 2
‘jgﬂ___q l =20 = 2 g :-0” /3
% -3 ,/% =3




Assign /0 ot

S\

IZ-x+?>lt-5

Zy+325 . X435 -5

-2 T2 LIBT3

I
EEa

’(X+|l>’

 —

‘\...._/‘

Xt > 5

=
=1 =B

| (] & 3

X122 >£+l?’3

~ - "I |

—

L -4 “xID

Ond X+ y It tqrogph

| fpx=y =~ 1

w (% 0)7

' l




fnd 944 g+

o v

y = Lu-F,

XAnt (3" D\

~/

L FE.

T W S A
S A

| g/!' Nt ( 0 ,’_{F

| Fivd_the Sippe -
qv Aigi:}/\ (_/1f 3) . - \ fm\—a
o B meEe e _""L%"'L:_:”L}
0. (;Lji{’l_‘i);(’ :J@)_‘W(z: ; (- 2:.5?1_7../)
¥\ Y, K?—_y'z,
LT rex & g S o
M= j‘..;_cz = __’i h/f}?—)- S
+ =2 2 / I

WwyHe 1n slope ~{pt 'HBTW\

Slope = ~4 pnd  @odd st (3;'63

= ~di b -

== —4/3)%
-C = __123‘,5 .

T
=

:«4x,r7~-

=

2) o (-2,%)

|Zs| paadeo Phurough ([,
m= 2’—?‘1&‘— S e Ve
R \E\Z\—:m;(jﬁq\

4 :’b




aﬁcssz'ﬁﬁq -

POSALS %wa" (clf1) & PQ/TP to -4 = Bx~2
A VAR -

,L{:M;I [

ek ale - J5- /:L | 1o

L y= CY+4\)OL’E$) | T

— —

i A\' 4= | S
XAt ('fl;—o%)“ A o 7(
(Z10). * \\Q *.

CA=L vy gy
<"||]ijli

., N < T
u«;mr-( o o \}

1 {o11)(n 3)




[‘\!‘111!\|

T T r—
< |
™

<
<o
L

[T y= ¥ H‘—-le? -W,K

i (oo\ - \\

d 04 <410y Ho(0).

; Ve
OO-HJ \

UI

!

=0

J B




ook B0 13 (N0 cadc )

| r@f\.ﬁﬁi% %‘//ﬂ

Aot~

Ovaph Hhe SYSTen.

%) 2 v2y =12 2x-Yy=4
Lard {0 ) X"iﬂj(l;@)
yaind: (0,4) -t (0 -4)
dJ J 7 _
= F ~
R X / (3)?/)/ .
T \)’Q%’” ) imasistend.
<‘\1H‘|1;rﬁ/%\-‘x ey Indpded
\J / SN e
. V kY J
Beok 1oy 252 2,8 {ate) N (85)
2v &7 '}:t-x +3 '
L= ~2% +2) (9.9 —\
\J DR
%‘%12\1\ LH(*W %~*5k =3
\’L TR 1K
C‘Ty = Bk +3 \ _
uvaxﬂ% § L
A - _ ” :‘_L X“’“L R '7,—-"*.
e =
| no solubion (paraliel )
L .







